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General Instructions : 

 1. Candidate must write his/her Roll Number on the first page of the Question Paper. 

 2. Please check the Question Paper to verify that the total pages and total number of questions 

contained in the Question Paper are the same as those printed on the top of the first page. Also 

check to see that the questions are in sequential order. 

 3. For the objective type of questions, you have to choose any one of the four alternatives given in 

the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the answer-book given 

to you.  

 4. All the question including objective type questions are to be answered within the allotted time 

and no separate time limit is fixed for answering objective type questions.  

 5. Making any identification mark in the answer-book or writing roll number anywhere other than 

the specified places will lead to disqualification of the candidate. 

 6. Write your Question Paper Code No. 50/HIS/2, Set  A  on the answer-book. 

 7. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can 

answer in any one of the languages listed below : 

   English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, 

Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi. 

   You are required to indicate the language you have chosen to answer in the box provided in 

the answer-book. 

  (b) If you choose to write the answer in the language other than Hindi and English, the 

responsibility for any errors/mistakes in understanding the question will be yours only. 

Code No. 

ÛúÖê›ü ®ÖÓ. 50/HIS/2 

 SET/ÃÖê™ü    A  

50/HIS/2/211-A    



50/HIS/2/211–A 2 

ÃÖÖ´ÖÖ®µÖ †®Öã¤êü¿Ö : 

 1. ¯Ö¸üßõÖÖ£Öá ¯ÖÏ¿®Ö-¯Ö¡Ö Ûêú ¯ÖÆü»Öê ¯ÖéÂšü ¯Ö¸ü †¯Ö®ÖÖ †®ÖãÛÎú´ÖÖÓÛú †¾Ö¿µÖ ×»ÖÜÖë … 

 2. Ûéú¯ÖµÖÖ ¯ÖÏ¿®Ö-¯Ö¡Ö ÛúÖê •ÖÖÑ“Ö »Öë ×Ûú ¯ÖÏ¿®Ö-¯Ö¡Ö Ûêú Ûãú»Ö ¯ÖéÂšüÖë ŸÖ£ÖÖ ¯ÖÏ¿®ÖÖë Ûúß ˆŸÖ®Öß Æüß ÃÖÓÜµÖÖ Æîü ×•ÖŸÖ®Öß ¯ÖÏ£Ö´Ö ¯ÖéÂšü Ûêú ÃÖ²ÖÃÖê 

‰ú¯Ö¸ü ”û¯Öß Æîü … ‡ÃÖ ²ÖÖŸÖ Ûúß •ÖÖÑ“Ö ³Öß Ûú¸ü »Öë ×Ûú ¯ÖÏ¿®Ö ÛÎú×´ÖÛú ºþ¯Ö ´Öë Æïü … 

 3. ¾ÖÃŸÖã×®ÖÂšü ¯ÖÏ¿®ÖÖë ´Öë †Ö¯ÖÛúÖê “ÖÖ¸ü ×¾ÖÛú»¯ÖÖë (A), (B), (C) ŸÖ£ÖÖ (D) ´Öë ÃÖê ÛúÖê‡Ô ‹Ûú ˆ¢Ö¸ü “Öã®Ö®ÖÖ Æîü ŸÖ£ÖÖ ¤üß ÝÖ‡Ô ˆ¢Ö¸ü-

¯Öã×ÃŸÖÛúÖ ´Öë †Ö¯Ö ÃÖÆüß ˆ¢Ö¸ü ×»Ö×ÜÖ‹ …  

 4. ¾ÖÃŸÖã×®ÖÂšü ¯ÖÏ¿®ÖÖë Ûêú ÃÖÖ£Ö-ÃÖÖ£Ö ÃÖ³Öß ¯ÖÏ¿®ÖÖë Ûêú ˆ¢Ö¸ü ×®Ö¬ÖÖÔ×¸üŸÖ †¾Ö×¬Ö Ûêú ³ÖßŸÖ¸ü Æüß ¤êü®Öê Æïü … ¾ÖÃŸÖã×®ÖÂšü ¯ÖÏ¿®ÖÖë Ûêú ×»Ö‹ †»ÖÝÖ 

ÃÖê ÃÖ´ÖµÖ ®ÖÆüà ×¤üµÖÖ •ÖÖ‹ÝÖÖ …  

 5. ˆ¢Ö¸ü-¯Öã×ÃŸÖÛúÖ ´Öë ¯ÖÆü“ÖÖ®Ö-×“ÖÅ®Ö ²Ö®ÖÖ®Öê †£Ö¾ÖÖ ×®ÖÙ¤üÂ™ü Ã£ÖÖ®ÖÖë Ûêú †×ŸÖ×¸üŒŸÖ ÛúÆüà ³Öß †®ÖãÛÎú´ÖÖÓÛú ×»ÖÜÖ®Öê ¯Ö¸ü ¯Ö¸üßõÖÖ£Öá ÛúÖê 

†µÖÖêÝµÖ šüÆü ü̧ÖµÖÖ •ÖÖµÖêÝÖÖ … 

 6. †¯Ö®Öß ˆ¢Ö¸ü-¯Öã×ÃŸÖÛúÖ ¯Ö¸ü ¯ÖÏ¿®Ö-¯Ö¡Ö Ûúß ÛúÖê›ü ÃÖÓÜµÖÖ 50/HIS/2, ÃÖê™ü  A  ×»ÖÜÖë … 

 7. (Ûú) ¯ÖÏ¿®Ö-¯Ö¡Ö Ûêú¾Ö»Ö ×Æü®¤üß/†ÓÝÖÏê•Öß ´Öë Æîü … ×±ú ü̧ ³Öß, µÖ×¤ü †Ö¯Ö “ÖÖÆëü ŸÖÖê ®Öß“Öê ¤üß ÝÖ‡Ô ×ÛúÃÖß ‹Ûú ³ÖÖÂÖÖ ´Öë ˆ¢Ö¸ü ¤êü ÃÖÛúŸÖê Æïü : 

   †ÓÝÖÏê•Öß, ×Æü®¤üß, ˆ¤æÔü, ¯ÖÓ•ÖÖ²Öß, ²ÖÓÝÖ»ÖÖ, ŸÖ×´Ö»Ö, ´Ö»ÖµÖÖ»Ö´Ö, Ûú®®Ö›Ìü, ŸÖê»ÖãÝÖã, ´Ö¸üÖšüß, ˆ×›ÌüµÖÖ, ÝÖã•Ö¸üÖŸÖß, ÛúÖëÛúÞÖß, ´Ö×ÞÖ¯Öã̧ üß, 

†ÃÖ×´ÖµÖÖ, ®Öê¯ÖÖ»Öß, Ûú¿´Öß¸üß, ÃÖÓÃÛéúŸÖ †Öî̧ ü ×ÃÖ®¬Öß … 

   Ûéú¯ÖµÖÖ ˆ¢Ö¸ü-¯Öã×ÃŸÖÛúÖ ´Öë ×¤ü‹ ÝÖ‹ ²ÖÖòŒÃÖ ´Öë ×»ÖÜÖë ×Ûú †Ö¯Ö ×ÛúÃÖ ³ÖÖÂÖÖ ´Öë ˆ¢Ö¸ü ×»ÖÜÖ ¸üÆêü Æïü … 

  (ÜÖ) µÖ×¤ü †Ö¯Ö ×Æü®¤üß ‹¾ÖÓ †ÓÝÖÏê•Öß Ûêú †×ŸÖ×¸üŒŸÖ ×ÛúÃÖß †®µÖ ³ÖÖÂÖÖ ´Öë ˆ¢Ö¸ü ×»ÖÜÖŸÖê Æïü ŸÖÖê ¯ÖÏ¿®Ö ÛúÖê ÃÖ´Ö—Ö®Öê ´Öë ÆüÖê®Öê ¾ÖÖ»Öß 

¡Öã×™üµÖÖë/ÝÖ»Ö×ŸÖµÖÖë Ûúß ×•Ö´´Öê¤üÖ¸üß Ûêú¾Ö»Ö †Ö¯ÖÛúß ÆüÖêÝÖß … 
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MATHEMATICS 

ÝÖ×ÞÖŸÖ  

(211) 
 

Time : 2
1

2
  Hours ] [ Maximum Marks : 85 

ÃÖ´ÖµÖ  : 2
1

2
 ‘ÖÞ™êü ] [ ¯ÖæÞÖÖÕÛú : 85 

 

Note : (i) Question Numbers (1-15) are Multiple Choice Questions. Each question carries 

one mark. For each question, four alternative choices, (A), (B), (C) and (D) are 

provided, of which only one is correct. You have to select the correct alternative 

and indicate it in the answer-book provided to you by writing (A), (B), (C) or (D) 

as the case may be.  

  (ii) Question Numbers (16-25) carry 2 marks each.  

  (iii) Question Numbers (26-33) carry 4 marks each. 

  (iv) Question Numbers (34-36) carry 6 marks each. 

  (v) All questions are compulsory.  

 

×®Ö¤ìü¿Ö :  (i) ¯ÖÏ¿®Ö ÃÖÓÜµÖÖ (1-15) ŸÖÛú ²ÖÆãü×¾ÖÛú»¯Öß ¯ÖÏ¿®Ö (Multiple Choice Question) Æïü … ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö ‹Ûú 

†ÓÛú ÛúÖ Æîü … ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö ´Öë “ÖÖ¸ü ×¾ÖÛú»¯Ö (A), (B), (C) ŸÖ£ÖÖ (D) ×¤üµÖê ÝÖµÖê Æïü, ×•Ö®Ö´Öë ÃÖê Ûêú¾Ö»Ö ‹Ûú 

ÃÖÆüß Æîü … †Ö¯ÖÛúÖê ÃÖÆüß ×¾ÖÛú»¯Ö “Öã®Ö®ÖÖ Æîü ŸÖ£ÖÖ ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö Ûêú ˆ¢Ö¸ü †¯Ö®Öß ˆ¢Ö¸ü-¯Öã×ÃŸÖÛúÖ ´Öë (A), (B), 

(C) †£Ö¾ÖÖ (D) •ÖîÃÖß ³Öß ×Ã£Ö×ŸÖ ÆüÖê, ×»ÖÜÖÛú¸ü ¤ü¿ÖÖÔ®ÖÖ Æîü … 

  (ii) ¯ÖÏ¿®Ö ÃÖÓÜµÖÖ (16-25) ŸÖÛú ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö Ûêú 2 †ÓÛú Æïü … 

  (iii) ¯ÖÏ¿®Ö ÃÖÓÜµÖÖ (26-33) ŸÖÛú ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö Ûêú 4 †ÓÛú Æïü … 

  (iv) ¯ÖÏ¿®Ö ÃÖÓÜµÖÖ (34-36) ŸÖÛú ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö Ûêú 6 †ÓÛú Æïü … 

  (v) ÃÖ³Öß ¯ÖÏ¿®Ö †×®Ö¾ÖÖµÖÔ Æïü … 

 
1. Which of the following is not a rational number ? 1 

 ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ÛúÖî®Ö ¯Ö×¸ü´ÖêµÖ ÃÖÓÜµÖÖ ®ÖÆüà Æîü ? 

 (A) 3 (B) 
5

–7
  

 (C) 





2

3

2

 (D) (2)½   
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2.  If 





1

9

n

 = 81, the value of n is : 1 

 µÖ×¤ü 





1

9

n

 = 81, ŸÖÖê n ÛúÖ ´ÖÖ®Ö Æîü : 

 (A) – 2 (B) – 1 

 (C) 1 (D) 2 

 

3.  Monthly expenditure of a family is 60% of the monthly income. If the family saves              

` 6,000 per month, the monthly income of the family (in rupees) is : 1 

 ‹Ûú ¯Ö×¸ü¾ÖÖ¸ü ÛúÖ ´ÖÖ×ÃÖÛú ¾µÖµÖ, ´ÖÖ×ÃÖÛú †ÖµÖ ÛúÖ 60% Æîü … µÖ×¤ü ¾ÖÆü ¯Ö×¸ü¾ÖÖ¸ü ` 6,000 ¯ÖÏ×ŸÖ´ÖÖÆü ²Ö“ÖŸÖ Ûú¸üŸÖÖ Æîü, 

ŸÖÖê ˆÃÖ ¯Ö×¸ü¾ÖÖ¸ü Ûúß ´ÖÖ×ÃÖÛú †ÖµÖ (¹ý¯ÖµÖÖë ´Öë) Æîü : 

 (A) 10,000 (B) 12,000 

 (C) 15,000 (D) 18,000 

 

4. 144 is what percent of 360 ? 1 

 144, 360 Ûêú ×ÛúŸÖ®Öê ¯ÖÏ×ŸÖ¿ÖŸÖ Ûêú ²Ö¸üÖ²Ö¸ü Æîü ? 

 (A) 250 (B) 100 

 (C) 40 (D) 4 

 

5. In the figure given below,  ∠ BOD is equal to : 1 

 ®Öß“Öê ¤üß Æãü‡Ô †ÖÛéú×ŸÖ ´Öë, ∠ BOD ²Ö¸üÖ²Ö¸ü Æîü : 

            

 (A) x° (B) (90 + x)° 

 (C) (90 – x)° (D) (180 – x)° 
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6. In a plane, the point equidistant from the vertices of a triangle is called its : 1 

 (A) Centroid (B) Incentre 

 (C) Circumcentre (D) Orthocentre 

 ‹Ûú ×¡Ö³Öã•Ö Ûêú ŸÖß®ÖÖë ¿ÖßÂÖÖí ÃÖê ˆÃÖß ŸÖ»Ö ´Öë ÃÖ´Ö¤æü¸üÃ£Ö ×²Ö®¤ãü ÛúÆü»ÖÖŸÖÖ Æîü : 

 (A) Ûêú®¦üÛú (B) †ÓŸÖ:Ûêú®¦ü 

 (C) ¯Ö×¸üÛêú®¦ü (D) »ÖÓ²Ö Ûêú®¦ü 

 

7. In the figure given below, O is the centre of a circle. If ∠ AOB = 100°, the value of x 

is :    1 

 ®Öß“Öê ¤üß Æãü‡Ô †ÖÛéú×ŸÖ ´Öë, O ×ÛúÃÖß ¾Öé¢Ö ÛúÖ Ûêú®¦ü ×²Ö®¤ãü Æîü … µÖ×¤ü ∠ AOB = 100°, ŸÖÖê x ÛúÖ ´ÖÖ®Ö Æîü : 

                   

 (A) 50° (B) 120° 

 (C) 130° (D) 150° 

 

8. If 4 tan A = 3, the value of  
2 sin A + cos A

3 sin A – 2 cos A
  is 1 

 µÖ×¤ü 4 tan A = 3, ŸÖÖê 
2 sin A + cos A

3 sin A – 2 cos A
 ÛúÖ ´ÖÖ®Ö Æîü :  

 (A) 20 (B) 10 

 (C) 
15

4
 (D) 

10

3
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9. The value of  
cos236° + cos254° – 1

sin263° + sin227°
   is 1 

 
cos236° + cos254° – 1

sin263° + sin227°
 ÛúÖ ´ÖÖ®Ö Æîü : 

 (A) 0 (B) 1 

 (C) 2 (D) – 1 

 

10. The value of sin4A + cos4A + 2sin2A ⋅ cos2A is :  1 

 sin4A + cos4A + 2sin2A ⋅ cos2A ÛúÖ ´ÖÖ®Ö Æîü : 

 (A) – 1 (B) 0 

 (C) 1 (D) 2 

 

11. In the figure given below, ∆ABC is right angled at B. Which of the following is true ? 1 

 ®Öß“Öê ¤üß Æãü‡Ô †ÖÛéú×ŸÖ ´Öë, ∆ABC ´Öë ÛúÖêÞÖ B ÃÖ´ÖÛúÖêÞÖ Æîü … ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ÛúÖî®Ö ÃÖŸµÖ Æîü ? 

                      

 (A) cosec A = 
a

c
 (B) cosec A = 

c

a
 

 (C) cosec A = 
a

b
 (D) cosec A = 

b

a
 

 

12. The width of each of five continuous classes in a frequency distribution is 5 and the 

lower limit of the lowest (First) class is 10. The upper limit of the highest (last) class 

is      1 

 ×ÛúÃÖß ²ÖÖ¸Óü²ÖÖ¸üŸÖÖ ²ÖÓ™ü®Ö ´Öë ¯ÖÖÑ“Ö ÃÖŸÖŸÖ ¾ÖÝÖÖí ´Öë ¯ÖÏŸµÖêÛú Ûúß “ÖÖî›ÌüÖ‡Ô 5 Æîü ŸÖ£ÖÖ ÃÖ²ÖÃÖê ”ûÖê™êü (¯ÖÆü»Öê) ¾ÖÝÖÔ Ûúß ×®Ö´®Ö 

ÃÖß´ÖÖ 10 Æîü … ÃÖ²ÖÃÖê ²Ö›Ìêü (†Ó×ŸÖ´Ö) ¾ÖÝÖÔ Ûúß ˆ¯Ö¸üß ÃÖß´ÖÖ Æîü : 

 (A) 15 (B) 20 

 (C) 30 (D) 35 
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13. Mode of the data, 15, 14, 19, 20, 14, 15, 14, 18, 14, 15, 17, 14, 18 is : 1 

 †ÖÑÛú›ÌüÖë 15, 14, 19, 20, 14, 15, 14, 18, 14, 15, 17, 14, 18 ÛúÖ ²ÖÆãü»ÖÛú Æîü : 

 (A) 20 (B) 18 

 (C) 15 (D) 14 

 

14. Observe the histogram given below. How many students have the height 145 cm and 

above ?   1 

 ®Öß“Öê ×¤ü‹ Æãü‹ †ÖµÖŸÖ×“Ö¡Ö ÛúÖê ¬µÖÖ®Ö ÃÖê ¤êü×ÜÖ‹ … ×ÛúŸÖ®Öê ×¾ÖªÖÙ£ÖµÖÖë Ûúß ‰Ñú“ÖÖ‡Ô 145 ÃÖê´Öß µÖÖ ˆÃÖÃÖê †×¬ÖÛú Æîü ? 

 

 (A) 15 (B) 10 

 (C) 23 (D) 11 

OR / †£Ö¾ÖÖ 

(For Visually Impaired Learners Only) 

(Ûêú¾Ö»Ö ¥ü×Â™ü ×¾ÖÛú»ÖÖÓÝÖ ×¾ÖªÖÙ£ÖµÖÖë Ûêú ×»Ö‹) 

 For drawing a frequency polygon of a continuous frequency distribution, we plot the 

points whose ordinates are the frequencies of the respective classes and abscissa are 

respectively : 

 (A) class mark of the classes (B) lower limits of classes 

 (C) upper limits of classes (D) upper limits of preceding classes 

 ×ÛúÃÖß ÃÖŸÖŸÖ ²ÖÖ Ó̧ü²ÖÖ¸üŸÖÖ ²ÖÓ™ü®Ö Ûêú ×»Ö‹ ²ÖÖ¸Óü²ÖÖ¸üŸÖÖ ²ÖÆãü³Öã•Ö ²Ö®ÖÖ®Öê Ûêú ×»Ö‹, Æü´Ö ¾Öê ×²Ö®¤ãü †Ö»Öê×ÜÖŸÖ Ûú¸üŸÖê Æïü, ×•Ö®ÖÛúß 

ÛúÖê×™üµÖÖÑ ÃÖÓÝÖŸÖ ¾ÖÝÖÖí Ûúß ²ÖÖ Ó̧ü²ÖÖ¸üŸÖÖ‹Ñ ÆüÖêŸÖß Æïü ŸÖ£ÖÖ ³Öã•Ö ÛÎú´Ö¿Ö: Æïü : 

 (A) ¾ÖÝÖÖí Ûêú ¾ÖÝÖÔ ×“ÖÅ®Ö (B) ¾ÖÝÖÖí Ûúß ×®Ö´®Ö ÃÖß´ÖÖ‹Ñ 

 (C) ¾ÖÝÖÖí Ûúß ‰ú¯Ö¸üß ÃÖß´ÖÖ‹Ñ (D) ×¯Ö”û»Öê ¾ÖÝÖÔ Ûúß ‰ú¯Ö¸üß ÃÖß´ÖÖ‹Ñ 
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15. Median of first 10 prime numbers is : 1 

 ¯ÖÏ£Ö´Ö ¤üÃÖ †³ÖÖ•µÖ ÃÖÓÜµÖÖ†Öë ÛúÖ ´ÖÖ¬µÖÛú Æîü : 

 (A) 11 (B) 12 

 (C) 13 (D) 14 

 

16. Rationalise the denominator of the following : 2 

 ×®Ö´®Ö Ûêú Æü¸ü ÛúÖ ¯Ö×¸ü´ÖêµÖÛú¸üÞÖ Ûúß×•Ö‹ : 

 
11 – 5

11 + 5
   

 

17. Multiply x2 + 
2

3
 x + 

5

6
  by x – 

7

4
. 2 

 x
2 + 

2

3
 x + 

5

6
  ÛúÖê x – 

7

4
 ÃÖê ÝÖãÞÖÖ Ûúß×•Ö‹ … 

 

18. A certain sum of money at simple interest amounts to ` 1,300 in 4 years and to               

` 1,525 in 7 years. Find the sum of money.  2 

 ÛúÖê‡Ô ¸üÖ×¿Ö ÃÖÖ¬ÖÖ¸üÞÖ ²µÖÖ•Ö ¯Ö¸ü 4 ¾ÖÂÖÖí ´Öë ` 1,300 ŸÖ£ÖÖ 7 ¾ÖÂÖÖí ´Öë ` 1,525 ÆüÖê •ÖÖŸÖß Æîü … ¸üÖ×¿Ö –ÖÖŸÖ Ûúß×•Ö‹ … 

 

19. D is any point on the base BC of a  ∆ABC. If AB > AC, then prove that AB > AD. 2 

 ∆ABC Ûêú †Ö¬ÖÖ¸ü BC ¯Ö¸ü ÛúÖê‡Ô ×²Ö®¤ãü D Æîü … µÖ×¤ü AB > AC, ŸÖÖê ×ÃÖ¨ü Ûúß×•Ö‹ ×Ûú AB > AD … 
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20. PAB is a secant to the circle from a point P outside the circle. PAB passes through the 

centre of the circle and PT is a tangent. If PT = 8 cm and OP = 10 cm, find the radius 

of the circle.  2 

 ×ÛúÃÖß ¾Öé¢Ö Ûêú ²ÖÖÆü¸ü ×Ã£ÖŸÖ ×²Ö®¤ãü P ÃÖê PAB ¾Öé¢Ö ÛúÖ ‹Ûú ”êû¤üÛú Æîü †Öî¸ü µÖÆü ¾Öé¢Ö Ûêú Ûêú®¦ü ×²Ö®¤ãü O ÃÖê ÆüÖêÛú¸ü 
•ÖÖŸÖÖ Æîü … PT ¾Öé¢Ö Ûúß Ã¯Ö¿ÖÔ ¸êüÜÖÖ Æîü … µÖ×¤ü PT = 8 ÃÖê´Öß ŸÖ£ÖÖ OP = 10 ÃÖê´Öß, ŸÖÖê ¾Öé¢Ö Ûúß ×¡Ö•µÖÖ –ÖÖŸÖ 
Ûúß×•Ö‹ … 

 

21. If the length of a chord of a circle is 16 cm and the distance of the chord from the 

centre is 6 cm, find the radius of the circle.  2 

 µÖ×¤ü ‹Ûú ¾Öé¢Ö Ûúß ‹Ûú •Öß¾ÖÖ Ûúß »ÖÓ²ÖÖ‡Ô 16 ÃÖê´Öß ŸÖ£ÖÖ ‡ÃÖ •Öß¾ÖÖ Ûúß Ûêú®¦ü ÃÖê ¤æü¸üß 6 ÃÖê´Öß Æîü, ŸÖÖê ¾Öé¢Ö Ûúß ×¡Ö•µÖÖ 
–ÖÖŸÖ Ûúß×•Ö‹ … 

 

22. Find the coordinates of the point on x–axis equidistant from the points (2, 5) and       

(3, 4).   2 

 x-†õÖ ¯Ö¸ü ˆÃÖ ×²Ö®¤ãü Ûêú ×®Ö¤ìü¿ÖÖÓÛú –ÖÖŸÖ Ûúß×•Ö‹ •ÖÖê ×²Ö®¤ãü†Öë (2, 5) ŸÖ£ÖÖ (3, 4) ÃÖê ÃÖ´ÖÖ®Ö ¤æü¸üß ¯Ö¸ü ÆüÖê … 

 

23. Find the perimeter and area of the sector of a circle of radius 9 cm with central angle 

35°.    2 

 9 ÃÖê´Öß ×¡Ö•µÖÖ ¾ÖÖ»Öê ¾Öé¢Ö Ûêú ˆÃÖ ×¡Ö•µÖÜÖÓ›ü ÛúÖ ¯Ö×¸ü´ÖÖ¯Ö †Öî¸ü õÖê¡Ö±ú»Ö –ÖÖŸÖ Ûúß×•Ö‹ ×•ÖÃÖÛúÖ Ûêú®¦üßµÖ ÛúÖêÞÖ 35°     
Æîü … 

 

24. Find the area of a rhombus whose side is of the length 5 m and one of its diagonals is 

of length 8 m.  2 

 ‹Ûú ‹êÃÖê ÃÖ´Ö“ÖŸÖã³ÖãÔ•Ö ÛúÖ õÖê¡Ö±ú»Ö –ÖÖŸÖ Ûúß×•Ö‹ ×•ÖÃÖÛúß ³Öã•ÖÖ Ûúß »ÖÓ²ÖÖ‡Ô 5 ´Öß™ü̧ ü ŸÖ£ÖÖ ‹Ûú ×¾ÖÛúÞÖÔ Ûúß »ÖÓ²ÖÖ‡Ô           

8 ´Öß™ü¸ü Æîü … 

 

25. Prove that :   2 

 ×ÃÖ¨ü Ûúß×•Ö‹ ×Ûú : 

 
1 – cos A

1 + cos A
  = (cosec A – cot A)2  
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26. Three years ago Atul’s age was four times Parul’s age. After 5 years from now, Atul’s 

age will be twice Parul’s age. Find their present ages.   4 

 ŸÖß®Ö ¾ÖÂÖÔ ¯Öæ¾ÖÔ, †ŸÖã»Ö Ûúß †ÖµÖã ¯ÖÖºþ»Ö Ûúß †ÖµÖã Ûúß “ÖÖ¸ü ÝÖã®Öß £Öß … †Ö•Ö ÃÖê 5 ¾ÖÂÖÔ ¯Ö¿“ÖÖŸÖË †ŸÖã»Ö Ûúß †ÖµÖã 
¯ÖÖºþ»Ö Ûúß †ÖµÖã ÃÖê ¤ãüÝÖã®Öß ÆüÖêÝÖß … †ŸÖã»Ö †Öî¸ü ¯ÖÖºþ»Ö Ûúß ¾ÖŸÖÔ´ÖÖ®Ö †ÖµÖã –ÖÖŸÖ Ûúß×•Ö‹ … 

 

27. Find the 50
th

  term and sum of first 50 terms of the A.P  11,16, 21, 26, …..  4 

 ÃÖ´ÖÖÓŸÖ¸ü ÁÖêœÌüß 11, 16, 21, 26, ............... ÛúÖ 50¾ÖÖÑ ¯Ö¤ü ‹¾ÖÓ ¯ÖÏ£Ö´Ö 50 ¯Ö¤üÖë ÛúÖ µÖÖêÝÖ –ÖÖŸÖ Ûúß×•Ö‹ … 

 

28. A cooler is available for ` 3,400 cash or ` 2,000 as cash down payment followed by 

five equal monthly instalments. If the rate of interest charged under the instalment 

plan is 30% per annum, find the amount of each instalment. 4 

 ‹Ûú Ûæú»Ö¸ü ` 3,400 ®ÖÛú¤ü ³ÖãÝÖŸÖÖ®Ö †£Ö¾ÖÖ ` 2,000 ŸÖã¸ÓüŸÖ ³ÖãÝÖŸÖÖ®Ö †Öî¸ü ‡ÃÖÛêú ÃÖÖ£Ö ¯ÖÖÑ“Ö ÃÖ´ÖÖ®Ö ´ÖÖ×ÃÖÛú ×ÛúÃŸÖÖë 
´Öë ˆ¯Ö»Ö²¬Ö Æîü … µÖ×¤ü ‡ÃÖ ×ÛúÃŸÖ µÖÖê•Ö®ÖÖ Ûêú †ÓŸÖÝÖÔŸÖ ×¤ü‹ •ÖÖ®Öê ¾ÖÖ»Öê ²µÖÖ•Ö Ûúß ¤ü¸ü 30% ¾ÖÖÙÂÖÛú Æîü, ŸÖÖê ¯ÖÏŸµÖêÛú 
×ÛúÃŸÖ ´Öë ×¤ü‹ •ÖÖ®Öê ¾ÖÖ»Öß ¸üÖ×¿Ö Ûúß ÝÖÞÖ®ÖÖ Ûúß×•Ö‹ … 

 

29. Prove that the parallelograms on equal (or same) bases and between the same parallels 

are equal in area.  4 

 ×ÃÖ¨ü Ûúß×•Ö‹ ×Ûú ÃÖ´ÖÖ®Ö †Ö¬ÖÖ¸ü (µÖÖ ‹Ûú Æüß †Ö¬ÖÖ¸ü) †Öî¸ü ¤üÖê ÃÖ´ÖÖ®ŸÖ¸ü ȩ̂üÜÖÖ†Öë Ûêú ²Öß“Ö ²Ö®Öê ÃÖ´ÖÖÓŸÖ¸ü “ÖŸÖã³ÖãÔ•Ö 
õÖê¡Ö±ú»Ö ´Öë ÃÖ´ÖÖ®Ö ÆüÖêŸÖê Æïü … 

 

30. ABC is a triangle right angled at C. If CD, the length of perpendicular from C on AB 

is p,  BC = a, AC = b and AB = c, then prove that 
1

p2 = 
1

a2 + 
1

b2. 4 

 ABC ‹Ûú ×¡Ö³Öã•Ö Æîü ×•ÖÃÖ´Öë ∠ C = 90° … µÖ×¤ü CD, ¿ÖßÂÖÔ C ÃÖê AB ¯Ö¸ü ›üÖ»Öê ÝÖ‹ »ÖÓ²Ö Ûúß »ÖÓ²ÖÖ‡Ô p Æîü ŸÖ£ÖÖ 

BC = a, AC = b †Öî¸ü AB = c ÆüÖê, ŸÖÖê ×ÃÖ¨ü Ûúß×•Ö‹ ×Ûú 
1

p2 = 
1

a2 + 
1

b2 
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31. An observer standing 40 m away from a building observes that the angle of elevation 

of the top and bottom of a flagstaff, which is surmounted on the building are 60° and 

45° respectively. Find the height of the building and the length of the flagstaff.           

( 3 = 1.732)  4 

 ‹Ûú ¯ÖÏêõÖÛú ×ÛúÃÖß ³Ö¾Ö®Ö ÃÖê 40 ´Öß™ü¸ü Ûúß ¤æü¸üß ¯Ö¸ü ÜÖ›ÌüÖ ÆüÖêÛú¸ü µÖÆü ¤êüÜÖŸÖÖ Æîü ×Ûú ‹Ûú —ÖÓ›êü Ûêú, •ÖÖê ×Ûú ³Ö¾Ö®Ö ¯Ö¸ü 

»ÖÝÖÖ Æãü†Ö Æîü, ¿ÖßÂÖÔ ‹¾ÖÓ ¯ÖÖ¤ü ×²Ö®¤ãü†Öë Ûêú ˆ®®ÖµÖ®Ö ÛúÖêÞÖ ÛÎú´Ö¿Ö: 60° ‹¾ÖÓ 45° Æïü … ³Ö¾Ö®Ö Ûúß ‰Ñú“ÖÖ‡Ô †Öî̧ ü —ÖÓ›êü 

Ûúß »ÖÓ²ÖÖ‡Ô –ÖÖŸÖ Ûúß×•Ö‹ … ( 3 = 1.732) 

 

32. If the mean of the following data is 17.45, find the value of P. 4  

 µÖ×¤ü ×®Ö´®Ö †ÖÑÛú›ÌüÖë ÛúÖ ´ÖÖ¬µÖ 17.45 Æîü, ŸÖÖê P ÛúÖ ´ÖÖ®Ö –ÖÖŸÖ Ûúß×•Ö‹ … 

Xi 15 16 17 18 19 20 

Fi 3 8 10 P 5 4 

 

33. A pair of dice is thrown once. Find the probability of getting 4 

 (i) same number on both dice 

 (ii) sum of the numbers appearing on dice as 9.  

 ¤üÖê ¯ÖÖÃÖÖë ÛúÖê ‹Ûú ÃÖÖ£Ö ‹Ûú ²ÖÖ¸ü ±ëúÛúÖ •ÖÖŸÖÖ Æîü … ×®Ö´®Ö ÛúÖê ¯ÖÏÖ¯ŸÖ Ûú¸ü®Öê Ûúß ¯ÖÏÖ×µÖÛúŸÖÖ –ÖÖŸÖ Ûúß×•Ö‹ : 

 (i) ¤üÖê®ÖÖë ¯ÖÖÃÖÖë ¯Ö¸ü ‹Ûú Æüß ÃÖÓÜµÖÖ 

 (ii) ¤üÖê®ÖÖë ¯ÖÖÃÖÖë ¯Ö¸ü ¯ÖÏÖ¯ŸÖ ÃÖÓÜµÖÖ†Öë ÛúÖ µÖÖêÝÖ 9  

 

34. Check whether the roots of the quadratic equation   
x

x + 1
 + 

x + 1

x
 = 

34

15
  (x  ≠ 0, 1) are 

real or not. If yes, find the roots.  6 

 •ÖÖÑ“Ö Ûúß×•Ö‹ ×Ûú ×«ü‘ÖÖŸÖ ÃÖ´ÖßÛú¸üÞÖ 
x

x + 1
 + 

x + 1

x
 = 

34

15
  (x  ≠ 0, 1) Ûêú ´Öæ»Ö ¾ÖÖÃŸÖ×¾ÖÛú Æïü †£Ö¾ÖÖ ®ÖÆüà … 

µÖ×¤ü ÆüÖÑ, ŸÖÖê ´Öæ»Ö –ÖÖŸÖ Ûúß×•Ö‹ … 
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35. Construct a triangle ABC in which AB + BC + CA = 9.5 cm,  ∠ ABC = 60° and           

∠ ACB = 45°.  6 

 ‹Ûú ×¡Ö³Öã•Ö ABC Ûúß ¸ü“Ö®ÖÖ Ûúß×•Ö‹ ×•ÖÃÖ´Öë AB + BC + CA = 9.5 ÃÖê´Öß, ∠ ABC = 60° ŸÖ£ÖÖ               

∠ ACB = 45° 

OR / †£Ö¾ÖÖ 

(For Visually Impaired Learners Only) 

(Ûêú¾Ö»Ö ¥ü×Â™ü ×¾ÖÛú»ÖÖÓÝÖ ×¾ÖªÖÙ£ÖµÖÖë Ûêú ×»Ö‹) 

 Write the steps of construction to construct a triangle ABC in which AB = 6 cm,           

BC = 4 cm and median CD = 3.5 cm. 

 ‹Ûú ‹êÃÖê ×¡Ö³Öã•Ö ABC Ûúß ¸ü“Ö®ÖÖ Ûêú ×»Ö‹ ¸ü“Ö®ÖÖ Ûêú ¯Ö¤ü ×»Ö×ÜÖ‹ ×•ÖÃÖ´Öë AB = 6 ÃÖê´Öß, BC = 4 ÃÖê´Öß †Öî¸ü 
´ÖÖ×¬µÖÛúÖ CD = 3.5 ÃÖê´Öß … 

 

36. The diameter of a solid  hemisphere is 42 cm. Find its volume, curved surface area 

and total surface area. 6 

 ‹Ûú šüÖêÃÖ †¬ÖÔÝÖÖê»Öê ÛúÖ ¾µÖÖÃÖ 42 ÃÖê´Öß Æîü … ˆÃÖ †¬ÖÔÝÖÖê»Öê ÛúÖ †ÖµÖŸÖ®Ö, ¾ÖÛÎú ¯ÖéÂšüßµÖ õÖê¡Ö±ú»Ö ‹¾ÖÓ Ûãú»Ö ¯ÖéÂšüßµÖ 
õÖê¡Ö±ú»Ö –ÖÖŸÖ Ûúß×•Ö‹ … 

______________ 
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